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oPleyeor 1 (1) arsg elamssEnd sflurs HiFat LSaurd o dangT eramgaman

sfluniggs Garerera)b. FHLUAHND GonudmuGer siemns
sansrauurarflid o L anguwirs Qsflelésea,n.

(2) ped g &mUL emwbulenar L HGLW er(PsieusHEL LWATLOSS
Geuam(Hb. UL EisET cuanreusn@ Cueamdled LweaTLHESeLb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Black or Blue ink to write and pencil to draw diagrams.

&MUy : @euaiamrggrer epemy feysmers QaraTLg.

Note : This question paper contains three sections.

19y - 1/SECTION - I
(LHLGlueTasET : 15) / (Marks : 15)

G@Ouy : ()  Quiflede 2 drer 15 clamas@ErsEn e wallésayib. 15x1=15
(i) <seorluys gilleaer Cer@ssiul(erer wrHm el gefld
- Ulsayb sflwrer e awg CarbEsHES 6T (PFeyL.
Note : (i) Answer all the 15 questions.
(i) Choose the correct answer from the alternatives given in the brackets.
1. Qupess Csireys Carlurlen Qeuefud Leur
(smiaveiy Lmiellen, abl,Cer-e-ediflev, Hiflst Goraar Quoae, ger LMl ev
GULDITITS )
Theory of Natural Selection was proposed by
(Charles Darwin, Hugo-de-Vries, Gregor Johann Mendel, ]ean Baptise Lamarck)
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Superaraupmer srplen epad LFab Crrullamans sem(Hig&s.
(&reCrml, ppanend sTl&sem, @Lumi(, STerT)

One of the following is transmitted through air. Find out.
(Tuberculosis, Meningitis, Typhoid, Cholera)

epeilanamellarTed e @@ Ha, smedlen aemrasléseE el L b afl&seinag.
(05Cam, G @LBSSF, el L aemD, &(THed,ewn)
The product of triple fusion which acts as nutritive tissue for the development of embryo

is:
(zygote, placenta, scutellum, endosperm)

eVl & STHMOOTE FEUTFSITTED 2_6HTL_T6Ug)

(@réyd bleb, mumeails b, Tdsamd, ifligs idlab)
The product obtained in the Anaerobic respiration of yeast is :

(lactic acid, pyruvic acid, ethanol, acetic acid)

Lig Lo eril@Qum(mEns@ rhSSISST(H :
(smAFbd, @by, waetdwb, &)
Example for fossil fuel is :

(Copper, Iron, Magnesium, Coal)

Giu gafl BB G gerard eifiCw aumbCUTE, Siger LTmg Ggflaugen

sryenTd eafludlenm

(Qrduediiuime, fsmare)

When sunlight passes through window of classrooms its path is visible. This is due to
of light.

(reflection, scattering)

Caougl erflvened eremig)
(o Nevar | Havgamige ellener)

Chemical Volcano is an example of
(combination reaction/ decomposition reaction)

F0o .U STHIMmel L TIGs0 LweTUBD (penm

(meor Wsuy wperp / yefuiiiy wpep)
A process employed for the concentration of sulphide ore is
(froth floatation/ gravity separation)
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glalwugden padu srg
(GCamwen L, QudartenL L, urdenevl, &l anrl)
The ore of Aluminium is

(haemetite, magnetite, bauxite, siderite)

usleflev_r LeveoriFer &1 LoGeupmienLd euigeuld.
(eMBLTene/ STTLIG/ Fe0LIT)
Buck Minster Fullerene is the allotropic form of

(nitrogen /carbon/sulphur)

LeQuurie 50 £.4. Hlevmujerer waflgaflen erepL
(50 N, 35 N, 380 N, 490 N)

The weight of 50 kg person at the surface of earth is :

(50 N, 35 N, 380 N, 490 N)

@m HCardyrd Han peugihd wdHpers wrHpliu@GLEUTg oL &ELw
BODS .

(9x10'6 ], 9x 108 J, 18 x 108 J, 18 x 1016 J)

The energy produced when 1 kg of a substance is fully converted into energy is

(9x10167, 9x 108 J, 18 x 108 J, 18 x 1016 J)

2 W9l OO epeLd

(Beosaf, emd bme, Qeuliu hmed, I (HiE FrewTid)
The main source of bio-mass energy is

(coal, heat energy, thermal energy, cow-dung)

g ulléd 2 Heur@h 2 meull QUHESD % erafled, b3S 2 lquderm euams
(@), @A, sogand)

1
The magnification produced by a mirror is 3 then the type of mirror is :

(concave, convex, plane)

4080
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15. o Corssd s gHulled urybd WarCearmliL b gmeard &omdl ____ o
o_(MHEUTSHGHLD.
(Qeuliub, eefl, srbsligeb, eahdrelams)
An electric current through a metallic conductor produces ___ around it.

(heat, light, magnetic field, mechanical force)

191fley - IT / SECTION - II
(FLClueseT : 40) / (Marks : 40)

@iy :  gCzeibd @mug amsseEns@ el wafl&sean. 20x2=40

Note j Answer any twenty questions.

16, &L 5§56 miqw uamlsar sen SpMargdn@earenw, CufarsddEer@nd
LrUGWL. SPESETED LMTLSET ToHSamaWw rmuUr{ser ClereaT(heTarg erems
GIMRICE:S
(1) wafllss saenflen Hlpw Bew, spuy, LWLy, uEms erar LIMUGSEDS.

@eueuens wrmumd erarL(HID.
(<=1) pwed, wirener Cumemmeumdled srarTiiLIHID LI el rpuLl(HErarg.
@eueuens ImUTHEET eraliLI(HILD.
The heritable characters are varying in different species and within the same species.
Name the variation in the following cases.

(a) The eye colour among the human beings are varied as blue, black, brown, green
etc.

This is called as variation.
(b) The dentition in rabbit and elephant are not the same.

This is called as _ variation.

17/ wrr&wen wHmb GeuradGurist Crmiser Lrss GanurlLrd gouGEeamae.
@ser sd@Haerts peannGw UhSs euudn, pasde issb I ELh. @&smbns
silwur? gauprs QmbETeD, HHEH T(PFIs.

Marasmus and Kwashiorkar are both protein deficiency defects. Marasmus differs

from Kwashiorkar in enlarged belly and swelling in the face. Are these symptoms for
the above diseases correct ? If not, correct it.
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Eupater ULSms euanghgl Garhissiul(Harareuphle @reamh Lrshsmans
GH&ESE|ID.

(Qeed 2 L_eid, sy&evren, CLarrymer, Slanenss ‘@qmu uGSlsar)

Copy the diagram and label any two parts in the group given.

(cyton, axon, dendron, end plate)

Bwredlev Qe Gfgalan sHw Hspe; GNECs s5s0 RGD. Q&
B Qumid Hleve

(QauGLmear, ursdlieer, iglCarmlicer, egCaT o)
The important event of meiosis is the crossing over. It occurs during :

(Leptotene, Pachytene, Diplotene, Zygotene)

Serareupmer 2 M priE mwey wopulimars CaiblsHés.

4080

(@) @sCariea - QalGLmed —» UTGiea - UG e — Lwmstlaélen

(=) LwuamsQenéley — ameCam e —» ColuGLmed — UTESlear — UG leer

(@) QolGLrear > angGamiieen — UTGSHlest — g LIGeTT w6t — L wWensblandlen

Pick out the item which has sequential arrangements.
(@) Zygotene — Leptotene — Pachytene — Diplotene — Diakinesis
(b) Diakinesis — Zygotene — Leptotene — Pachytene — Diplotene

() Leptotene — Zygotene — Pachytene — Diplotene — Diakinesis

[ Hplys / Turn over
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21 uTeshd sreursdd, ellamgser sar STl sreaurdad ol Geug Ggrameaaila
el (pdlemmen.
(=) @&ampn sHlurarsT g SeupTETST?

(<=,) STFemTD Fnfm).
In balsam plant the seeds fall off far away from the mother plant.
(a) Is this statement correct or incorrect ?

(b) Give reason.

23 urer g seflen LnsCaralled sramtliL(heug) :
(=) 2 Crrwid, 2 e Crmwowb, 2 Crmw L der
(<) 2 Gy, Bab, adlFe) HEHBIGET
(@) 2Grmow, 2 arm Grmow, QETbuser
() 2. Gpmow, Bsb, CFdlosar
The epidermis of mammals contains :

(a) Hair, bristle, quills
(b) Hair, nail, claw
(c) Hair, bristle, horn

(d) Hair, nail, scale

23/ 2 L elletr ‘mevl T CEWlevl" eremm APESLILIHID 2 MILIL] 6T&I? 6re?

Which organ is known as “Master Chemist” ? Why ?

24, CamqlLeunenm Hlriys :
Yerrevwor : enullfGenredlen ; @rss Heuliuigm) :
@rss CleueTenemay) :
Fill in the blanks :
Plasma : Fibrinogen ; RBC :
WBC :
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25. &G Qsr@ssiul(arer sal L wepsGearr®, eupdler fply e miyser
LOHND $&55 THSHSHT_(HEEHL 6T ClUTHESIs.
gnamiL oal Lpen |wsGaranrerGarse SN0 (@H LT
e (Harentlaer L&ena&w LD orGerm_Grriium
LD & (& eor Gt | 6T amme G milwi diseT anamLilavaen
Match the methods of nutrition of special organs with suitable examples.
Autotrophs Mycorrhiza Cuscuta
Parasites Chlorophyll Monotropa
Saprophytes Haustoria Hibiscus
26. cuatlLoEsTL_6VLD
CO,
i\
cllemI@seT

\qmguqm /

STEUTaISET

(1) 1 wHMD 3 - Q6 sravTlL@BL Hepesamar Gr@gjaé.
(<) Bapa] 1 -8 auarunés.

Atmosphere

CO,
/ Anlmals\
Decomposmon

Green
plants

Fossil
plants

(@) Name the processes noted as no. 1 and 3.
(b) Define the process 1.

[ $muys / Turn over
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27.  gpit 2arfléd 2008 - 2009 - 1> Y eriqed UL AgrHmCrmiseien efleurbd eul L
auanrULLoTE QErRasuul(hdrarg. @samens gmibg Corad &pererelnHdna
e wefl&EHaLD.

QL@ smisge,

Aa@en Gefwm

TGHTUIFF

(1) QuepbuTeTET Loé;assmmg_'r; sr&SL CHmUsET wrepeu?

(<) LOHD @ C‘Sg)rru'_tssmmés'; sLHUuBSHL gCaaibd @rar® WpenmEamer
TSI,

The pie diagram represents a survey result of infectious diseases of a village during
2008 - 2009. Analyse it and answer the following chart :

Dengue fever,
chikungunya

Cholera

Rat fever

(@) Which diseases affect the majority of the population ?

(b) Write any two measures to control the other two diseases.
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28, wmrhlujarar, Hpous Qum Quigyd ng')g)ij Fmwul Gup @WETS eUETEIGEET

penwrsll QUTHSSIS.

QUGBTI HET A B C

Hmbul Gumib eueaThIgEr & STHO) Qui_Grredlwiid

Hmwul Qup Quiers

T emanL_yer | Quinans eury |G fw gefl 4 Hmed
GUGITIRI 6T

Match the suitable renewable and non-renewable sources.

Sources A B C
Renewable Coal | Wind Petroleum
Non-Renewable Hydrogen Natural gas Solar energy

Curs@arsg aursamsaie LwearLhSSID rMblurmearser wrene? (Brev(
L (Hb)
Write any four liquid bio - fuels used for transportation.

Qgedl 4w sorEgIsED, OgeilLTs smrsasE@h 2 6rer Caupumbsemar Ep&
Qar@ssuulerer @GDIULSET (PeLD 6T(LHSGIS.
(1) 16 & NaCl 100 & Bflev
(<) 36 & NaCl 100 & Bifle

(@MUY - NaCl e senydlmer 36 &)
Distinguish between the saturated and unsaturated solution using the data given below.
(@) 16 g NaCl in 100 g water.

(b) 36 g NaCl in 100 g water
(Note - Sclubility of NaCl is 36 g)

sarened aUNGW Gflw gefl umbCurg oigear urengmws sream Wi &lmg).
@Qbblsneflen QUWIT erener? ETFaRTDd Fnmis.
When sunlight passes through the window of the classroom, the path of the light is
visible. What is this effect called ? Give reason.

[ Hmliyes / Turn over
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32, eopLlymaiien epasamy Hlam 28. Sigen Signiblan 14. eoplrmaflen signbs ()

33.

34,/

. 35,

36.

37.

CTEHTEN TS & TEHTS.

Molecular mass of nitrogen is 28. Its atomic mass is 14. Find the atomicity of nitrogen.

Qmby aflaws srilrs soCul sarsdlae amausEbGurg srilrs
goCuLl grer Fipd wrmdlng? 2 6 LflaissTear cllaTéEss5mES STeLb.

Why does the colour of Copper Sulphate change when an iron nail is kept in it ? Justify
your answer.

Qm smrsadlan maniyrréedler sweailuder CeMey 1.0x1078 M erafey, i e
pH wdlliy erewmen?

The hydroxyl ion concentration of a solution is 1.0x10~8 M. What is the pH of the
solution ?

@\(HDLAET LIWLIGTEHET @)FeTlyeneTs dnmis.

Mention any two uses of iron.

@{@L&@ﬂu_l sl &fl Qarar® @O&GL wenuie e dlelu
2 Coorsgdang e GlUm (Lplqwirg)?

Why cannot aluminium metal be obtained by the reduction of aluminium oxide with
coke ?

CamglL QL sens HlrlLs :

QU.GTEHT. | epevdgam eumiiumr® | Gumrg Quwir IUPAC Quuwifr
1) CH,COOH | ____ THSa TS <i1flewd
) HCHO urforegman® |

Fill in the blanks :

S.No. | Molecular formula Common name IUPAC name

(1) CH,COOH | ___ Ethanoic acid
(2) HCHO Formaldehyde -
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Epsaramibd spmseaild o Gurmeller HanCur® Qg r_mleveons & Hann
T(PSIS.
(@) Q& @ gL Derey
(<) @& Qupliwe grrs Qarar® eTaEslLBSDI.
@) Q& e grra: Qarawm(® SjarssLBSHDG.
(F)  LmLEUTmET SjaTey

From the following statements write down that which is not applicable to mass of an
object :

(a) TItisa fundémental quantity.
(b) It is measured using physical balance.
(c) It is measured using spring balance.

(d) - It is the amount of matter.

E&ETEID Fmpmiseier seumser gHLOGLLG Hmos!s.

(1) @@ Pl Ler eflens ererug) e SHrmb Hlenpwjarer Qurpefley 1 ms—2
phEss5mE THLUOSGHID elensulen eTaneusd GMHSELD.

(<) ellanauyd Gr‘é)r'raﬁlsmmu.m eriGurgib @Cr Qumrmeflen g QFweL@LD.

Correct the mistakes, if any, in the following statements.

2

(@) One Newton is the force that produces an acceleration of 1 ms ™ in an object of

1 gram mass.

(b) Action and reaction are always acting on the same body.

5 @, 10 @b, 30 @b e FdL & @@ &OHO LGS @ameali9d
QevarmasiLl_(HeTerar. Eplen QsT@GUWET WS STENTS.

Three resistances having the values 5¢), 10}, 30Q) are connected parallel with each
other. Calculate the total circuit resistance.

[ &mLuys / Turn over



4080

41,

42|

CeaureLm Nerged SC Sriul(HeTeng.
A, B, C, D eramé @U@ Ol L unshisemers GDI&ESa|LD.

QUTBSSHIS :

2_MILIL|S6T

(21) sl g Fellla (epgws))

(<) sLIA Glenamriiy
@) e elerés

(FF)

e &HeLDd

Match the following :

()
(b)
(c)
(d)

Components

Plug key or Switch (Closed)
A wire joint

Electric bulb

Electric cell

12

www.tnschools.co.in
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43, GsmglL @ msemer BITiLs.
(1) Curiirt : Bevassthsh, euratu fHuleorer Guom L ri :
(21) GeNwg Qsrenavey : ST, Sme :
Fill in the blanks :

(a) For a motor : a permanent magnet, then commercial motor :
(b) Focal length of a lens : metre, then for power of a lens :

44, SpssamLcunans GN&EGD Samailen LGRSO 6T (LHS)s.
() s Uramamwsd sLHUUBSEID @QHETL Se&LILIL LD
(<) saraniled QuUmGelen ADUD 2 @rLTEGWw UFLL
Considering this write down the names of the parts in human eye.

(a) Dark muscular diaphragm that controls the pupil
(b) The screen at where the image is formed by eye lens

45, @ GYRaaflear Gelluggb 2 18 eafler Hewearslar fmen sramns.

The focal length of a concave lens is 2 m, calculate the power of the lens.

Lﬂl‘ﬂ@_] - III / SECTION - III
(wHluGlueraer : 20) / (Marks : 20)

@Oy : ()  geuleurm uGHuIN®mBSID @ efam aigh BreE lamésEhsE
afen_weflédsa|b _ 4x5=20
(i) eouQeumm alermelih@b B LFHIGLa@TEET.
(ili) Cseweuwren @ migefley LILD cuamys.
Note : (i) Answer any four questions by choosing one question from each part.
(i) Each question carries five marks.
(iii) Draw diagrams wherever necessary.

u@$ - 1/ PART -1
46. (=) wry Qumdludwe erempmed eremen?
(=) wry Qurdludweilen BemenLosar Wreneu?
(@) Define genetic engineering.
(b) What are the benefits of genetic engineering ?

[ H®iys / Turn over
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47.

48.

49.

50,/

51.
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M GLpHEng GlLmMIGTETTIT.

(=1) Ypps GREMSEE PED WM WISRSELEEH oupris Caamgw Crmigb
SHULE S| cuenemTenil 6T(LpSIs.

(<) @E50LILAST epab erpEsps Cpmbsmar sOSEL @ugIb?

Kala has delivered a baby :

(@) Suggest the immunization schedule for the baby in the first six months.

(b) What are all the diseases that can be cured as per the schedule ?
U@ - 11/ PART - II

@ agdleners sreur ellengullen emwlieny edleutl.

Describe the structure of dicot seed.

s, s, oThi@ Chradlaybd Lend e . QF@GwWe 2 L& passnE
FOmST erarumg goms Garardprur? sfl crflluderred HUBL Sano
Lw&EL Cewdsamer uligwed(Hs.

Smoke, smoke, everywhere smoke. Do you agree this situation is good for health ?
List out the harmful effects of coal burning.

u@d - 111/ PART - III

(<=1) Beier gms Qararensuiler fpliLibsrigaicy FCHELD ePETHIMET 6T(LPS)IS.
(<) SCeurGas_Crr aldludlen LiwIGTEET @QTaTiq e 6T(LPSIs.
(a) State any three findings of modern atomic theory.

(b) Write down any two applications of Avogadro’s law.

(1) euerwIm : ETEVLFT&EGHSH60
(<) TSGTAE PG LILIGTSEMET 6T(LHSIs.
(@) Define “Esterification”.

(b) Write any three uses of ethanol.
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u@Gd - IV / PART - IV

52. (=) eflerQeuef Hlavawuser, Bawre Brer eflamGeouaiiuier srugesmed wals
o el ghu@b efeneteysemar <, rrwili LwerUh&sULH &l earpar.
@égmpilenar Hlumulu®SEs.

(=) F=G mym,/d? erenmug HluylLafer milnfwd eflfuder saflg euigauld.
By Ler miubGuwe effliemen aurtgmgsaflay er(pgs.

(a) Space stations are used to study the effects of long-space flight on the human
body. Justify.

() F=G mym,/d? is the mathematical form of Newton’s law of gravitation.

G-gravitational constant, m;, m, are the masses of two bodies separated by a
distance d, then give the statement of Newton’s law of gravitation.

53.

(1) CuGe 2érer UL g GO eUaTE.

(<) @uuLb gIu9@eug
@) uLgdler Wpaflwiorer LUTSRIGMETE & HESeLD.

(F) @&sTgaDd THHSIuGHan 2lg e e CeweuBEng?
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